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A. In a hospital. B. At a school. C. At home.

2. Who does the man want to talk to?
A, Sally Smith. B. Mr Warner. C. Mr Black.

3. What does woman want to do?

A. To do the same experiment.

13. To do one more experiment.

C. To get the result of the experiment.
4. What will the woman probably do?

A. Play volleyball with her friends.

. See Professor Jones alter class.

. Help Jones with a speech.

5. What is the man doing?
A. DBuying an air ticket.
B. Giving ticket information.
(. Traveling in Paris.
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6. Which is the bad result of using computers?
A. More people will lose their jobs.
B. People will have more freedom.
C. Many people have to work at home.
7. What does the man think we should do.to keep up with society?
A. To run as fast as possible.
B. Te make more money.

C. To learn more.
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8. Why did the man walk out of the hotel?
A. Because he had something important Lo do.
B. Because he wanted to visit his {riends.

C. Because he wanted to have a look at the city.

9. What does the man just remember near the hotel?

A. Book stores.
B. Supermarket.
C. Fashion shops.
10. What is the relationship between the speakers?
A. Friends.
B. Strangers.
C. Foreigner and policewoman.
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11. Which of the following is true?
A. Paul is an Australian professor of history.
B. The speakers are close friends.
C. Paul gave them a lecture on the Internet.
12. Which is Paul’s e-mail address?
A. Jones@yahoo. com. au.
B. Jones@ yahoo. com.
C. p.Jones@yahoo. com. au.
13. The woman speaker is probably a __
A. tourist to Australia
B. university student

C. newspaper reporter
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14. Where does this conversation probably take place?

A. In Mr Smith's officc.




B. In a science lab.

C. At a meeting,.

15. Why has Lily come to this place?
A. To work on a project.
B. To prepare for her speech.
C. To talk with Professor Smith.
16. What does Lily say about her recent life?
A. She's been busy with her classes.
B. She's heen working with George.
C. She's been working on the final paper.
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17. Why did the professor do tests with animals? j

A, To see which animal was cleverest.

B. To check bis idea of an experiment.

C. To check whether monkeys are clever.

18. The professor wanted to watch the monkey . i
A. move the boxes
B. look for the focd
C. look for the small boxes
19. After the professor left the rcom, the monkey hegan to
A. put the boxes together
I3. eat the focd inside the box
C. put one of its eyes to the keyhole
2(t. What surprised the professor?
A. The monkey found the food at last.
B. The monkey got hurt in his eyes.

C. The monkey was watching outside.
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1. Where are probably the two speakers?
A. At the airporl. B. At the cinema.
C. In a factory.
2. Where was Mr Smith two years ago?

A. In Australia. B. In London.
C. In Canada.
3. What's the possible relationship between the speakers?
A. Hushand and wife. B. Father and daughter.

C. Boss and secretary.
4. What does the man want to do?

A. To buy a plane ticket. B. To stay in London.

C. To return a ticket.
5. Where does the woman prefer to live?

A. On a train. B. In the country.

C. In the city.
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6. What are they talking about?

A. Traveling in Britain.

B. The price in the market.
C. The traffic of London.

7. What does Lillian think of the best way to travel in Londen?
A. By taxi. B. By underground.

C. By bus.
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8. Which of the following is true?
A. Taking taxis costs a lot in London.
B3. Buses in London are fast and comfortable.
C. Lillian travels a lot in Britain.
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9. What are they talking about?
Ax Their work in the city.
B. Plans for the summer.
C. A trip to Sydney.
10. Where does the woman work now?
A. At a bookstore. B. At her father’s store.
C. She stays at home.
11. When does the man join in singing and telling stories when
camping?
A. In the afterncon. B. In the morning.
C. At night.
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12. What's the weather like?
A. Fine but cold. B. Lovely and warm.
C. Cloudy and warm.
13. Where are the two speakers?
A. In a flat. B. At the station.
C. 1n a park.
14. What is the man speaker doing now?
A, Visiting a Chinese family.
B. Practising his English.
C. Spending his holiday.
Wi T I — B i, B 15 B 17 =3,

15. What are the two speakers doing?
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A. writing letters B. typing
C. give opinions on reports

8. What does the woman agree with the man?

A. It’s good to get some experience.

B. It's good to have fun on vacation.

C. It’s good to find a job as a clerk.
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9. Jane has some trouble in deciding _____ . i

A. whether to study or to get a job :

B. how to get fun from busy work

C. what to study in the university
10. Whar subject does Jane's parents want her to study?

A. Physics. 3. Medicine.
C. English.
11. What might Jane do in the end?
A. She refuses to work part-time.
B. She will go to university.
C. She will get a full time job.
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12. Peter stayed at home, during the vacation.
A. watching TV B. working
C. studying

. Why did Peter take two new subjects?

A. To find a better job. B. To study more.
C. To earn more money.

. Which of the following is true?

A. Peter made many friends during the courses.
B. Peter went to the Summer Palace for holiday.

C. Peter is a lazy student while studying there. |




